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1. SFEFBIUA
(1) EEIRA
EESEREIA 750,000 750,000 0
(2) JFEIRA
B ERENFRF BEIRA 4,830,000 4,830,000 0
BEIEEEIERTFHCRHUIRA 1,173,000 1,197,000 A 24,000
E=HRMNEFEFIRA 36,000,000 36,772,000 A 772,000
IR BN Z AL B FEFIRA 13,147,000 13,147,000 0
BEIEZHRZEFEHRIUA 23,074,000 23,074,000 0
SESERIRA 8,300,000 8,300,000 0
(3) #UXA
S EF| BURA 15,000 15,000 0
HUXA 1,200,000 1,200,000 0
SETERAG 88,489,000 89,285,000 A 796,000
2. ZEFHTH
M EEEXH
HwAFLARE 35,900,000 35,900,000 0
EREEXH 0 10,327,000 A 10,327,000
EERMEXE 6,570,000 6,570,000 0
EIEEEREH 260,000 260,000 0
HEIFEHEETH 3,000,000 3,000,000 0
FiREHin A E X L 780,000 780,000 0
BHNEXE 100,000 100,000 0
SEEXH 30,000 30,000 0
REXBEXL 40,000 40,000 0
BIEEREX L 550,000 550,000 0
HEMNSRELREX N 100,000 100,000 0
HEREXE 270,000 270,000 0
BEEXH 850,000 850,000 0
FRIEAEXH 900,000 700,000 200,000
FENEE 100,000 100,000 0
EmEXH 60,000 140,000 A 80,000
S TEE |BEETEE| B % BE
SEEEERH 1,100,000 1,050,000 50,000
EERXZH 1,050,000 1,050,000 0
KERERHZH 200,000 200,000 0
AR ANEXH 7,200,000 7,200,000 0
BHETH 420,000 420,000 0
HXH 150,000 150,000 0
(2 EEEZH
ZEMEMZ L 4,800,000 4,900,000 A 100,000
HwAFLARE 5,100,000 5,100,000 0
EERMEXE 830,000 830,000 0
EIEEEREH 40,000 40,000 0
SEEXH 470,000 470,000 0
REXBEXL 360,000 310,000 50,000
BIEEREX TS 100,000 100,000 0
HEREX W 30,000 30,000 0
EBEEXH 100,000 100,000 0
FRIEAEXH 100,000 100,000 0




FEREEX S 100,000 100,000 0
BEREXH 40,000 60,000 A 20,000
SEE e 400,000 400,000 0
EEAXH 450,000 450,000 0
n%‘;m%i& 540,000 540,000 0
FAHRAETH 20,000 20,000 0
M H 150,000 150,000 0
(4) ZD i H
EATCERBREVEER 80,000 80,000 0
AEIX HET 73,340,000 83,567,000] A10,227,000]
[ SR aNx=a 15,149,000 5,718,000 9,431,000
i IEIL
1. I & d B
(1) BEZEEIA
EEHET5 I B EENERA 0 9,025,000] A 9,025,000]
BEFESINAGT 0 9,025,000] A 9,025,000]
2. REFHTH
) FEEERSXH
BRI L EEREGXH 1,909,800 2,004,000 A 94,200
AMEEN S| B EERES X H 11,000,000 11,000,000 0
BB m o) tHar 12,909,800] 13,004,000 A 94,200
; A 12,909,800] A 3,979,000] A 8,930,800]
I ; DE
1. B E S A
B 758 B\ & 0 0 0
2. R E X
ﬁ%%iﬁ&% 0 0 0
0 0 0
N Vi EB‘iH&'
EZET 2,239,200 1,739,000 500,200
gu TR Y % = B 174,802,748] 173,063,748 1,739,000
R EBIN X = 177,041,048] 174,802,748 2,239,200
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